ML EEN S F 2022 JER =58 REDE R

MIENESEER
3 4 5 6

me | 1 2 7 8 9 10 | 11
Zx | B D D A c c A | BD | AGD | AB | AC
12. (1) 17.50 (143) 110 (14 (2) 18.50 (24))  53° (241)
R
L

13. (1) —42%25 3

3> b A4

6)% Qﬁ)%g—o (249
(6) FHEE (143D WK (140

14. (D B EEDE, SEEENp, M
pS= peS+mg

g i, S SRS

1
PJKH43=P(§%+VJ

y Tt
2

(2) BREH To BN 2.04Ty J5, KR po B 2po, WA NV, HRAETAIRE TG
PV +V) _ 2p,
T 2.047,

0

o SR B AR R T 2
WtV

&
A
=)
il

x100% = %XIOO% >1%

1

W% T A 35 B B A S .
15. (1) tR¥E- Py

A 2 I 1)

HALEZRPF 2022 B =% kBENEFRMEAEFLE (L£30) F17




AN ZE T P

R 2 2R — s

Fy=ma
fiwe
F,=2.5x10°N
(2) /NIAER 8]
[+L
t, =
VO
AR IR (]
t=t,—t =16s
(3) R4
v; =V’ =2as
fiwe

v=5\/§m/s
16. (1) JFOK S FZZAE 1 Bad, MAMS AR R, NS 00 # sk kN
AT RN A R B IR AR M A, RIIAZ O HIRIER, [N, M iR IR
R V20 55 F T J N 5 R ]

E= %Bla)r2

U Fi s P L

Q=CU=%=O.54C

(2) EMSBREREA
B,LAQ =my,
e ab H3 MRS R 5 [ IHERG(E — R AL RE

my, =(m+m)v,

B B
l2mvz2 =2mgh
2
BROL AT
2m
AQ= 2gh =0.16C
Q=%

21

(3) W FRMEAEREY) TG AT IS B FE N A, i sh e 2

HALEZRPF 2022 B =% kBEMEFRMEAEFLE (L£30) %27



B} Ax

R 2my,
G
Ax=0.128m > 0.08m
SIS BB
l,—1,=0.012m
y

Ax=Ax+1,~1,=0.14m

HALEZRPF 2022 B =% kBENERMEAEFLE (£37) %37



